A & ol & AF & H A A
2020 & 20 A 2L BHE| K|
: 200 M4
2 210 BAFMASY
B 211 A (2l &)
&H-a-8-5 Oll &FoH & 0] A oH Hlw =2t
£ A 17,209,704 11,684,764 5,524,940
200 AI2l#el 17,209,704 11,684,764 5,524,940
210 IHEMASY 8,536, 104 8,209,664 326,440
211 THAIL T4 35,076 30,076 5,000
211-01 2 |WALUH2 10,000 9,000 1,000
[ 283 ] 10,000 9,000 1,000
<R > 10,000 9,000 1,000
OISMAA=RE 10,000,000 10,000
211-02 BEMAAUS 25,076 21,076 4,000
[ 283 ] 25,076 21,076 4,000
<R > 25,076 21,076 4,000
OFX=SH 10,000,000€ 10,000
OJIEt=SH 15,000,000& 15,000
OS2 RMMARE(EHL . XEII) 45,000€ 45
OGN HIAZR(1S2HINHEDI) 31,0008 31
212 A2 4y 3,056,707 3,203,988 A 147,281
212-01 SEAMEE 110,000 110,000 0
[ 252 ] 110,000 110,000 0
<R > 110,000 110,000 0
OAzsczE=22 110,000,000&! 110,000
212-02 GIEAIE 2 11,300 10,500 800
[ 23 ] 11,300 10,500 800
<R > 11,300 10,500 800
OAslE=EER 5,300,0002 5,300
O3g4+HEER 6,000,0002! 6,000
212-05 AIZAIZR R 48,000 49,000 A1,000
[ Lersl A ] 48,000 49,000 21,000
<R > 48,000 49,000 1,000
OBHEANFNA(HES SXS, HEH, 01U, JaH)
48,000,000 48,000
212-07 Y F2 4+ 424,140 620,001 195,861
[ 23 ] 424,140 620,001 A 195,861
<R > 424,140 620,001 A 195,861
OMEIMAIZ AEZ 1,50090 = 2,230Y » 12& 40, 140
OMED asa gd&E 160,000 * 1,500€ 240,000
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g 200 Mel+=¢
2 210 ZHEAA+Y
g 212 B2 (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
OZF2Ut LEE 6,0008 * 24,000 144,000
212-08 JIEtAIE E 2,463,267 2,414,487 48,780
[ Letsl A ] 2,463,267 2,414,487 48,780
<ML > 2,463,267 2,414,487 48,780
Osged 284 M8R 6,000,000& 6,000
OGMEHNBEHIIANEZ(1S2H.XHED]) 270,000& 270
OsgIIENE S8 MER 30,000,000& 30,000
OMUEH IS ALHNSUE INEAH HHE MAES
6,000,000& 6,000
OSZMEHE RASAY e 150,000, 000& 150,000
OUENCHS(IHE AHIHIMNER 5,000,000& 5,000
ORZ= MHHMEZ(BHAEEIMES 4,500,000& 4,500
OZEREL=UHAZEAIAMNRAUMER 900,000& 900
ORXEZ=MEHMEE WH )IESHMHE LU 3,550,000& 3,550
Okol=X3sl2 AlH+=g 190,000, 000& 190,000
OSRUAMEZ(SHE LX) 7,000,000& 7,000
Ods2t ns =22 28,000,000& 28,000
OMEf2(sloa) tHatz 100, 000& 100
OF= 238 MEER = 103,000, 000& 103,000
OF=2d Iz A8 A= 1,700,000& 1,700
oFE= BM3Y ME= 3,500,000& 3,500
OZstti=sl2 & MEBR 6,000,000& 6,000
OZstl=sl2 3 =2 93,600, 000& 93,600
O=sli=32 K233 3lHl == 4,500,000& 4,500
O=stol=3 2EINASE(FHE HEDI]) 60,000& 60
OFEZUNSAS (S L2, BEHUAEZE)
16,795,000& 16,795
OFEAZXIMI AIEZ 6,840,000& 6,840
O&E =CUMSHH U2 AEZ 2,952,000& 2,952
OZEZE=TU2 MER 70,0008 = 450 = 12& 378,000
Od=4g MER 60,000,000& 60,000
OZeaE AMEE 1,000,000, 000& 1,000,000
OSSMTAZTASHAIE MEZ 220,000,000& 220,000
OSIAHSUAZE 2dUHMER 135,000,000& 135,000
213 =8¢ 1,066,300 1,006,300 60,000




I 200 K9l
Z:o210 BAFAL S
213 24249 CLE-ED
Z.o-g-2 Ol & o4 A ol o Hl @2
213-01 ZX+¢ 326,300 326,300 0
[ 2ersd | 326,300 326,300 0
<WRD > 326,300 326,300 0
ONSABI| 448 297,800
- S NSAS) Y UYRANRYZAHE  137,000,0008 137,000
—UENE 2344 30,000, 0002 30,000
- NEX S= 228 95,000, 0002 95,000
- X® Fel 448 6,000, 0002 6,000
- XNEE EXNHE, AZST2AUE 48 20,000,0008 20,000
—ZAX EXOISHESE 248 5,000, 0002 5,000
-~ HEY $4B(UY, FUSE) 4,800,0002! 4,800
OFMXEI8 48 26,000,0002! 26,000
ORelolaYz +48 2,500,0002! 2,500
213-02 M2 I X2l S SR OH+2 520,000 480,000 40,000
[ etsi ] 520,000 480,000 40,000
<WRB > 520,000 480,000 40,000
OMBIIKRIZE BOH4Y 450,000,000 450,000
OSASMUI S & B+ 70,000,000 70,000
21303 MEESE 4B+ 90,000 90,000 0
[ 2ersd | 90,000 90,000 0
<WRD > 90,000 90,000 0
OMESELN BH+Y 90,000, 0002 90,000
213-04 DB+ 42 130,000 110,000 20,000
[ 2ersd | 130,000 110,000 20,000
<WRB > 130,000 110,000 20,000
Oc2YS 448 30,000,000 30,000
OUEHIIZ 448 50,000,000 50,000
SMER HIISH2 ++R(ZSF-AFID)  40,000,0008 40,000
OUMARNBELH 2E3 10,000,000 10,000
214 AY 4 1,813,621 1,764, 100 49,521
214-01 ARSI MAr 2 Y 16,800 17,800 A1,000
[ 2ers | 16,800 17,800 £1,000
<HWRB > 16,800 17,800 £1,000
OUSAEE Mo =2 BHHS 6,000, 0008 6.000
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200 Al2l=+=¢
210 o HAM A=
214 At =g

A -oa-.g Oll &FoH & 0] A oH Hlw =2t
ORLMEHE 2529 SE DI+ 10,800,000€ 10,800
214-08 A2 At 4 1,796,821 1,746,300 50,521
[ 23 ] 1,796,821 1,746,300 50,521
<R > 1,796,821 1,746,300 50,521
OEAA MEY ¢ 50,000,000¢ 50,000
O4dol U &haf AAHZA 46,782
- 4ol 34,7802 * 730 25,389
— &y 27,0802 * 790 21,393
ONgEE %50 50,500
—QZ207%} 8,0008 * 6,000 48,000
—BE 2t 5,000 * 5009 2,500
OHA g4 67,302
— e A4 51709 * 349 = 2502 43,945
—XEI VBLY 5,170 = 8% = 96 3,970
—SteEx A4 51709 = 158 = 2502 19,387
OBAXA AR 782,062
— WX 24 6,0709 = 4959 * 250 751,162
—XEI VB4 5,0508 * 4% x 2502 5,050
—SteEx A4 51709 * 209 = 2502 25,850
OBHTEA ELQ 800,175
—Ex 2L 4,7009 = 681Y * 250 800,175
215 4834+ 834,400 975,200 A 140,800
215-01 A48 342 834,400 975,200 140,800
[ 2ers 3 ] 834,400 975,200 A 140,800
<R > 834,400 975,200 A 140,800
OZH B2xus2 20,400,000,0008 = 3/100 612,000
OstadE2 H4+ne2 26,800,0008 * 50/100 13,400
OE2EE22 F4nea 60,000,000 * 30/100 18,000
OstFNERY2 F4ue 50,000,000¢! 50,000
OF=PNI=RSEE= 3= Eaim] 2,800,000,0008 * 5/100 140,000
OHERg2 F4+n22 1,000,000 1,000
216 Ol X4 ¢ 1,730,000 1,230,000 500,000
216-01 S B0 30/ X+ 1,700,000 1,200,000 500,000
[ 252 ] 1,700,000 1,200,000 500,000




g 200 Mel+=¢
2 210 ZHEAA+Y
g 216 Ol A== (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
< S > 1,700,000 1,200,000 500,000
O&Jlt=s S 0l A=¢g 1,700,000,000& 1,700,000
216-06 JIEFOI Xt ==& 30,000 30,000 0
[ 2etsl A ] 30,000 30,000 0
<ML > 30,000 30,000 0
OMEN=Edd=s 22l 0l Xt==¢ 5,000,000& 5,000
OXNLgExS FAt0 [E OlXteteg == 25,000,000& 25,000
220 LA HAN2 == 8,673,600 3,475,100 5,198,500
221 THAHOH 2t ==2 150,000 100,000 50,000
221-03 SR M2+ = 150,000 100,000 50,000
[ LEH3IAH ] 150,000 100,000 50,000
< MR > 150,000 100,000 50,000
OBt &t 22 150,000, 000& 150,000
222 RY3 30,000 25,000 5,000
222-02 &t 53 30,000 25,000 5,000
[ Letsl A ] 30,000 25,000 5,000
<ML > 30,000 25,000 5,000
oMg=Rg=2 30,000,000& 30,000
223 W SLUEHES 418,600 290, 100 128,500
223-01 W& 3 140,500 45,500 95,000
[ 2etsl A ] 140,500 45,500 95,000
<ML > 140,500 45,500 95,000
Osgz== 0/d 2H= 120,000, 000 120,000
OUTSAH2+AHE HE = 5,000,000& 5,000
Ostszltsi2+AtHE HE = 10,000, 000& 10,000
ORsaaddtnd s 1,000,000& 1,000
OEXHAHIHFAS 0L M= 500,000& 500
OREZE2d8NEx= 4,000,000& 4,000
223-03 Hal= 11,000 11,000 0
[ LEH3IH ] 11,000 11,000 0
< WS > 11,000 11,000 0
OSFMAaHES 1,000,000 1,000
O=.38ML & a3 10,000,000 10,000
223-05 WEH = 267,100 233,600 33,500
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200 Al2l=+=¢
220 SAIHAN LA+

224 JIEt==¢ (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
224-01 =SS M2 15,000 15,000 0
[ Letsl A ] 15,000 15,000 0
<ML > 15,000 15,000 0
O=E3 =N 15,000, 000& 15,000
224-06 12 =+¢ 7,710,000 2,845,000 4,865,000
[ el A ] 7,710,000 2,845,000 4,865,000
<MW > 7,710,000 2,845,000 4,865,000
Osgllsde sIA=3 el lS|RAREE B+
5,000,000 5,000
O=z==1 g8 A 35,000,000& 35,000
OXN&EAHIAN HES 4,100,000,000& 4,100,000
OMBEIEMEZAE 20,000,000 20,000
OJIet J2+=Y 3,450,000,000& 3,450,000
OXNAETHEAAY =& = 100,000, 000& 100,000
225 A= +¢ 350,000 200,000 160,000
225-01 AttE &g 350,000 200,000 150,000
[ L3I ] 350,000 200,000 150,000
<ML > 350,000 200,000 150,000
OXgHE =g 350,000,000 350,000




